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QUESTION 1

An administrator wants to minimize the load caused by virtual desktop traffic In order to maximize performance on an
excessively taxed infrastructure Which type of business challenge is the administrator faced with? 

A. Availability 

B. Security 

C. Application 

D. Management 

Correct Answer: B 

 

QUESTION 2

Which two use cases can be met by implementing VMware ThinApp? (Choose two.) 

A. Running an Internet Explorer 6 based application on a Windows version that no longer supports Internet Explorer 6. 

B. Running a Linux application on a Windows 8 PC. 

C. Running a Mac OS X application on a Windows 8 PC. 

D. Running multiple versions of the same application side by side on the same PC. 

Correct Answer: BC 

 

QUESTION 3

A business has employees in a call center that need access to the same database and call center applications and
wants to make it easy to deploy, patch and upgrade these applications. 

Which Horizon (with View) feature meets this business need? 

A. Persona Management 

B. Dedicated Pools 

C. Full Clones 

D. Linked Clones 

Correct Answer: A 

 

QUESTION 4

Employees expect more flexibility to securely access corporate applications and data using a variety of company and
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personally-owned devices, regardless of location. 

Which solution is described in this statement? 

A. Application-Centric Computing 

B. Software Defined Data Central 

C. Remote Office Branch Office (ROBO) 

D. Workforce Mobility 

Correct Answer: D 

 

QUESTION 5

Which three products have been integrated into VMware Workspace Suite to power virtual workspaces and combine
application and data management on devices? (Choose three.) 

A. vRealize Automation 

B. AirWatch Mobility 

C. VMwute Workspace Portal 

D. VMware Horizon (with View) 

E. vCenter Server 

Correct Answer: ABD 

1V0-605 Practice Test 1V0-605 Study Guide 1V0-605 Braindumps

Powered by TCPDF (www.tcpdf.org)

1V0-605 Practice Test | 1V0-605 Study Guide | 1V0-605 Braindumps                                3 / 3

https://www.passapply.com/1v0-605.html
https://www.passapply.com/1v0-605.html
https://www.passapply.com/1v0-605.html
http://www.tcpdf.org
https://www.passapply.com/1v0-605.html
https://www.passapply.com/1v0-605.html
https://www.passapply.com/1v0-605.html

